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®* How many triangles in the figure?

® JTTERIC H fohd B &2

A.20
B. 24
C.28
D.32
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* At what time between 4 and 5 o'clock will the hands of a watch point 1n

opposite directions?

°@ﬁ5 St o siiel ford aHe =gl ot gt foodia fawmedt @ it
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A.54 past 4
B. (53 +7/11) past 4
 C.(54+8/11) past 4
D.(54 + 6/11) past 4
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* To what is 'scissors' related to 'cloth' in the same way?

o SR T Sh=ll' AT "ShUST | &, IHT TohR BT ST Hee foredl & 2

e ‘77'7‘:‘

\
V) & A Wood/cTehel

AL G
C. steel

D. Paper/shiiTSt
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A.26

B. 125
C.240
D.625
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® Glucometer : Blood Sugar :

: Pulse Meter : ? [SSC-CGL 2013]

° JQ’Ic\chll-lldi R RIE TR ATSHTT : 2

A.Earthquake/sshq

] B. Blood pressure/Tthg )
C. Atmospheric pr 3t HE]

D. Specific gravity/[dRT® TTecd Bl
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® Chick : Hen : ;: Larva : ?
o TSI AT ;A ;2
S =2

A. Frog/ﬁ%fm"
B. Dog/%l
C. Cat/fsiecit

D. Insect/hIe
-
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®* Given set: 7,98, 196 [SSC-CGL 2020]
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®* Given set : 17(1—6

3 [SSC-CGL 2020]

o
2\
A A6, 96 124
B.23, 162,207
C.18, 104, 171

D. 13,78, 108
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®* In a certain code language JONAIL 1s written as IRMDHO. How will
PLMUTG be written 1n that code language? [SSC - CHSL 2020]

ﬁB’éﬁﬁf\%ﬁWWﬁ JONAIL@IRMDHO T ST @ | 36t e Ao A

A.OOLXRK

\/( B. OOLXSJ (

DOLX§ S
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® In a certain code, STAFF 1s written as RTSUZBEGEG, how will ORDER be
written 1n that code? [SSC - CHSL 2020]

o fopeft fafrd she w8 éTAFFﬁRTSUZBEG EG e Srar & 36ft she wm #

BRDERﬁw%l@TWH?
3 s
N P — A NOQRSEFPERS__
—B-OPQFCEDEQS
T NPOSCEGFOE___

/
>——1D. NPQSCEDFQS
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® A man starts walking from a point. Turns & km north, turns right and walks

km, turns left and walks 7 km, then turns and walks 24 km south, turns right
and walks 12 km. In which direction 1s he from the starting point? [SSC Tier-I
2012]

® g HTSHT Teh €A H =1 & LAl g 8 Tohet ST 6T ST ST &, SR FHAT & 3R
12 foreft T aar 8, 9 W%ﬁﬂfmﬂﬁw% TR BT gﬁT24%ﬁEF&WT?ﬁ
@Taﬁ?ﬂ% E@W%ﬁ? 12 Rt ST £ | 98 ST 4 |«r|nﬁ1°m"{=rﬁ¥rrﬁ%‘7

H _______ L2 A.North

L.)
O | \
U\F\
d 2kn
e
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* Seven members are sitting in a row. A sits between D and F, C sits between F
and G, G between C and E and D between B and A. Tell the person sitting right
in the middle

* H1q HeH T Uh H s §UEl A, D IRF = H, C, F ARG H = 8 G, C AR
E o i< § 991 D, B 3T A o Sl H o3 8| 3leh sff= § oS §T Afth hl SdT5C-

D
B.F
C.
D.A
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*P,Q,R,S, T, U, Vand W are sitting around a circle facing the centre. T is
second to the left of P and third to the right of V, S 1s second to the right of W

who 1s immediate right of T, Q 1s third to the right of U.

*P,Q,R,S,T.U, VW{@W*%@%%T o ST HT
V% ep e, S, W e eaar

®* Who 1s second to the right of P?

* Pk T h T ST ?

one of these
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®* Find the next term.

® ITTTCAT UG T shiToly]
* 24, 60,120, 210, ?

f_f - K 300
f-1=Go

5-5=12° C. 420
Cg—c ~ 2o D.525

13 @
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®* Find the next term.

® AT US JTd shiToIT)

®2,7,27,107,427, 7

2)(4__/:?_ /&.1262

Y wgo 1= 2% ~AB1707 |
23 4= | = I C.4027
V3> 3-1=90% D. 4207

% 2?%‘\*&@
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* [f + means -, — means X, X means <+ and + means +, then

*2+6x6+2="7

A.l

B.0
.10

D.5
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* 20% of the mangoes kept in a basket are bad. If the number of bad mangoes in

this basket 1s 35, then how many mangoes are there in all?

* Ueh IR H 1@ @Tﬁﬁﬁ@m@r% | Ife 39 IRl § WU ST shl 98T 35 2,

ql et 3T fohe & 2 » _\

e

A.150

B. 180

=

C. 175

"D. 185
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® Statement:

. W./ﬁ% e, fereat i ®1

* No bed is door./®Ts TR, SATST Ta &l
* All doors are chairs./@+t SaT, @ﬁﬁﬁ% | W /p/ | ‘\ |
® Conclusion: \'&
®[. Nodoorisa table./ﬁﬁ GUATSIT, 0 el 2l X
e H.EO chair i1s a bed.)/ﬁ’ﬁc %hHT, ferea Tl 21X

* [I1. No chair is a table./shg @"Flcf, U T8l 8l X

® IV. All chairs are doors./g¥t @ﬁi’éﬁ, TETS 2 X
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® S-Tmeans'S is sister of T'.

®* S+ T means 'S 1s brother of T,

*S X T means 'S 1s father of T',

* then which of the following means 'R 1s son of P'? @3\

S-TH A RS, T HI & 2 %.P-Q@RH
*S+THAYR'S, TH ST, B.J-R+QxP
*SxTaH JAR'S, T ol YT, C.PxQ—R+J

o Al TAeATctad | © foreehT 312 & 'R, P 31 45 &2 D.Q+P-JxR
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® 66 X 65 % 64 =195
® 55 x 54 x 53 =162
® 44 x 43 x 42 =7

A.921
B. 129
C.219
D.258



